A & 0ol & AF S H Al A

Z 50 BX2
2 510 2NBEX2E
s 511 2NBXZE (St &)
ZE.-2.3.2 Ol A o Il A o Hns2
= A 63,417,288 58,770,734 4,646,554
50 X2 18,778,732 19,089,330 A310,598
510 =NBXE2S 13,966, 132 16,309,230 A2,343,098
511 2DEX2S 13,966,132 16,309,230 A2,343,098
51101 21EXZ 7,524,000 10,084,000 22,560,000
[ A2/ ] 0 2,031,000 22,031,000
< =TAFHA > 0 2,031,000 A2,031,000
O [8td8] 0 2,031,000 22,031,000
OYe XYASE HAZSY A= A 0 0 2,031,000 22,031,000
[ Bl=E201Y ] 7,524,000 8,053,000 529,000
< =TAFHA > 7,524,000 8,053,000 529,000
Olata=] 7,524,000 8,053,000 529,000
ONE EEXIP 5t22 FHIAY
ZA 289,000,000 %13 289,000 189,000 100,000
Ogetx gg| o xR 522 HU|AKY
ZA 1,675,000,0002*13] 1,675,000 1,305,000 370,000
OAl2 MEX|P 5t2 FHIAY
ZA 110,000,000 %13 110,000 190,000 /80,000
OAlE 2= SHEDI2 6t2F FHHIAIY
A 4,333,000,0002 18] 4,333,000 4,977,000 AB44,000
O0lY 24X SHEDNS G4 FHHIAKY
ZA 661,000,000 %13 661,000 400,000 261,000
Ot XAKIR sHEDS 645 FHIAY
Z2H 02 0 261,000 261,000
=3 OFEXIR(2EH) sOHE0IS 6la=E JUIAIE
ZH 456,000,000 %13 456,000 111,000 345,000
OAIE AKX SHEDS G5 FHIAY
2H 02 0 345,000 345,000
OL= 5t=22 HHIAIY A 0 0 275,000 A275,000
511-02 2D HLHELHFHEXS 6,235,000 6,078,000 157,000
[ A2 ] 6,235,000 6,078,000 157,000
< HTAFHA > 6,235,000 6,078,000 157,000
Os0E XgtasE HUAIS(EZXR)
157,000,000 *13] 157,000 0 157,000
511-03 JI2 207,132 147,230 59,902
[ B2 ] 207,132 147,230 59,902
< ETAFHA > 207,132 147,230 59,902
Oolata=] 207,132 147,230 59,902
ONE IEXIR 6t22 HUIAIY
ZE 9,540,000 %13 9,540 9,813 N273
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Z.p-g-9 o &t o 0] o HDS2
OYAR ¥2l L FAXT G422 FHIAL
AT 161,402,0002+13] 161,402 67,4% 9,907
OB OIEXR(2EH) SOENLS sH4E FHIAY
B 5,603,0002/13] 5,603 11,479 5,876
OSZ 23N SOEDE o4& FHIA
23 02 0 9,451 £9,451
OBt XATT SOEDE G145 FHIAY
B 13,173,002 +12] 13,173 27,049 13,876
ONE BOAXT SOIEDE GH4+E FHIAY
B 17,414,002 +1] 17,414 543 16,871
O Gi4+22 FHIAY 33 08! 0 21,400 £21,400
520 Al - SHIZE3S 4,812,600 2,780,100 2,082,500
521 Al - SHIZZ2S 4,812,600 2,780,100 2,032,500
521-01 Al - CHIZESS 4,812,600 2,780, 100 2,082,500
[ 44220/ ] 4,214,000 2,181,500 2,082,500
< ATARYA > 4,214,000 2,181,500 2,032,500
Oletzaa=] 4,214,000 2,181,500 2,082,500
OS0iE NYLHE HLAR(EEXT)
20,000,00021+12] 20,000 20,000 0
OFCIE SUYZ 4B LRIAL
Z 3,000,0008/18] 3,000 1,500 1,500
O NS HIABIY 7=
2,031,000,00021+12] 2,081,000 0 2,081,000
0 EH+LSAUTHY 33.318,4% 28,361,341 4,967,152
710 2H4YS 7,701,453 3,725,636 3,975,817
ECE! 7,701,453 3.725.6% 3.975,817
71101 E=AIH0I2 7,701,453 3,725,636 3,975,817
[ 445320/ ] 1,985,352 460,535 1,524,817
< ATARRL > 1,985,352 460,53 1,524,817
SVEE A 1,985,352, 0002 +12] 1,985,352 460,53 1,524,817
[ BHE2I1Y ] 5,716,101 3,265,101 2,451,000
< ATARRIL > 5,716, 101 3,265,101 2,451,000
SVEE B 5.716.101,002+12] 5,716, 101 3,265, 101 2,451,000
720 L=y 25,617,040 24,635,705 %1,335
721 M3 25,617,040 24,635,705 %1,335
72108 JIEHSIH WY B 25,617,040 24,635,705 %1,335
ALEBIIY ] 14,563,736 13,882,400 681,335
< ATARL > 14,563,735 13,882,400 681,335
OUEZ4+T 84 ABE( 1% 123
3881428, 000+ 122 110,208 0 110,208
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